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1, REREISTA 12 1 1 309,212
2| HHRESSTB 12 1 297,208
3 UMY 2ZH5TA 12 1 3 891,594
4 RO NY-To578 12 1 2 849,249
5| fIRPH-TITTA 12 | 2 584,575
6 | P HHZHSTB 12 * 3 871,882
7 HAXS>FIITA 12 1 1 578,615
8 BAHTR>T7578 12 1 1 287,367
9| BIBGMKLLYTTA 12 1 297,208
10| BIELGAKLYSTB 12 1 1 289,500
1| BFRRBEITTA 12 2 598,712
12| HEARREISTB 12 ; 2 584,575
13] RARESSIA 12 2 598,712
14f KRRESSTB 12 1 295,015
15| #ENBRESST 12 2 598,712
16; RNEREISTA 12 1 1 306,933
17) ®HNERESSTB 12 1 297,208
18 BRESST 12 3 885,933
19, BROFREISD 12 1 3 1,181,154
20 UDELYHE 12 1 2 735,667
21| BHETLHEA 12 1 2 881,667
22| BHETLHEB 12 1 1 297,208
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X X X = g

1 REE S S TA 2 2 4 12 184, 884
2| RHIRE Y 5 TB 9 1 3 12 34, 285
A ODY 555 TA 4 | 5 12 207, 543
dgmony =55 78 3 i 4 2 31, 489
5B > =4 5 T 2 9 4 12 14, 966
6 PS> = 55 T8 3 1 4 19 56, 029
JEETE Ty 5 TA 9 | 3 12 45, 346
881E T4 > F Y 5 7B 2 i 3 12 96, 530
9EA LML LY T TA 2 ? 4 12 26, 971
10/EHR AN E LY T TB 3 9 5 12 297, 264
MEARESSTA 2 2 4 12 41,763
1ok IRE Y 5 TB 9 i 3 12 54, 672
1BIHNRES - TA 2 1 3 12 32, 964
1|7 RS 5 7B 2 i 3 12 50, 895
15lEEREs 5 T 2 2 4 12 101, 329
16| B BRES 5 T A 2 i 3 12 164, 859
17|#E RS 5 7B 1 i 2 12 24, 548
18liERES 5 3 2 5 12 48, 581
9 ROFRES 5T 4 3 7 12 85, 108
200 Y 3 3 3 6 12 58, 058
21 8572 5 Bz 3 9 5 12 51, 892
20| & #3 % B ¥ =B 2 | 3 12 156, 709
e 53 36 89 o64] 1,796, 685




